The reading passage and the lecture hold the conplicting opinions about whether the agnotids have lived. The passage argues that some theories could support that the agnotids may have lived. However, the lecture disagrees.
1.在主题对比层面，出现重大与原文不符：原文为how agnostids may have lived; 失之毫厘而失之千里。主题层面的与原文不符，则综合写作全文跑题，后果非常严重。另外在单词拼写过程中观察不够仔细，照抄也出现了纰漏。
Firstly, the passage claims that it is possible that the agnotids may have been predators swimming in the sea and feeded on smaller animals since some other primitive arthropods could swim well and they were active predators. However, the lecture argues that we actually know some of the primitive arthropods could swim in the open ocean bacause they have largely developed eyes which could help them find prays. But the agnotids is almost bind and there is no evidence could support they have other ways to find prays.  
2.上句加黄色的部分出现了there be 句型后could support这部分无主语的比较严重的语法错误；另外时态使用也不合适，应改为过去时。
3. 上句加黄的部分还出现了重大拼写失误将blind错拼为bind，又是一个差之毫厘、失之千里的错误。
4. 本段在描述agnostids选择其他捕猎方式的时候，未提及other sensor organs。细节呈现不够细腻。
Secondly, the passage supports that they may be dwellers on the seafloor since other primitive arthropods do so. Nevertheless, the lecture dose not follow it. The lecture argues that those primitive arthropods which were seafoor dwellers could not move fast and they just stay local areas. While the agnosidscould spread bid distance and move pretty fast.  
5.加黄色的句子应改为上一句子的从句；同时该句未断句；且bid拼写错误。听力细节仅仅呈现了一句，且出现上述问题，后果比较严重。
Finally, the passage suggests that the agnotids may have been parasites feeding on larger organisms. However, the lecture refuse by claiming the population of the species of arthropods is not large as it is limited by many causes. But the the size of the population of the agnotids ruled out the theory of the parasites.
6.加黄色部分，主语谓语数不一致；另外该段听力细节描述中未展开limits的具体内容。
总结：

（1）作者不够细心：阅读主题描述错误；照抄单词拼写错误；语法错误；关键单词拼写错误。（这种粗心将付出巨大代价）

（2）听力细节不够细腻，需加强精听训练。
